mathrm d'N
mathrm d p. mathrm d lambda
H
(@]

20

18

T
[HEN
D

mathrm d N / mathrm d pT

Ratio to CMS
[N

0.5

x13600 GeV pp Jet

= T T | A B A L
[ (p?)2 A_0% (charged only) (CMS jet substructure) __
— = CMS —
- --d-- Herwig 7.2.1 default —
| —&— Pythia 8.308 default _
[ —¥-- Pythia 8.308 vincia-default _
— ¢ Sherpa 2.2.9 default 7
- -
— e -
- by 7
o . ]
- R o
E’_‘_'_-___-_'_-_'_- | - - ! : * ..... o ey (B | l:

l . L . L . . l . l

0 0.5 1

pTD2 (charged-only)

Rivet 3.1.10, = 1.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


